1.

x=-2 4 W, o= F 327 - 187 gho] E2 A7

H7]
A 3x © 5x-3 © |x|x3
@ -x° ® -2 14
X

0.0 266 006 @Dee 6606

B

3x2~18] = | -6 = 6 0| 2.2 AUt AT} 6 o] H= AL Frk,
@3x=3x%x(-2)=-6
O©bx-3=5x%x(-2)-3=-13
©xx3=2%x3=6
@-x*=-(-8)=8
@—A—l+4=—i+4=2+4=6
X -2

kA (3x% - 18] 7 ©, @9 #tol &t




@D b5x-9=0—-5x=9
@ 3x=94+2x—>x=9
@ —2x = —4x-20 - 2x = 20

@4x:8—>x:2

® 3(x-2)=6—>3x=12

—€B \
© ¥Hof 9 & H3ict,
@ 9FHlof —2x & H3ic}.
® FHlof 4x E it
@ FHAS 4 2 L)
® ol 6 2 Tt
& Shb= @oltt.




A )7 el it e g mEw?

1 —2
@§x+1=x2 @ 3(x+1)-2=4x-1
2
® %+1=x‘§ @ -0.03x = 0.2(1.2x - 2.7)

® 2x+4=6+x

B

D2x+6=3(x-2),3x-2x=6+6,x=12
@3x+3-2=4x-1,-x=-2,x=2
@x+6=2x+2),x+6=2x+4,x=2

@ -3x =2(12x—27) , —3x = 24x — 54, —27x = —54, x = 2
®2x—x=6-4,x=2




T 4= a, boll 5o 713 « 2 axb = 2a—3b 2F S o B
O IT
2 E

@®x=-5 @ x=-4
@ x=6 ® x=10

@x:3

Al
ol

4dxx = -1

4xx=-1
2Xx4-3xx=-1
8-3x=-1
-3x=-9

Lx=3




5.

o 293 Zo] AT o2 AEAE 2o U o, x @A 9
ot AEALY 5 x5 AHER Ao 2 YERfH?

agAy  egAD @AY <aDAD

O 3x+2 @ 3x+3

@ 4x+3 ®)4x+4

@ 4x+2

~&B

13A S AEAHLY] 4= 8=1x4+4
2TAS] AE]|AL 4 12=2x4+4
3THAL] AE]AL 4 16 =3x4+4

WA o] W AH o] i
xX 4+ 4= (4x + 4) O[T},




6. a=-2< 1 |2a+ 3|+ 2a+3 2 Aol zke?

@ -2 @ -1 <§Do @ 1

B

12a+3|+2a+3=|-4+3—4+3
=|-1-1
=1-1
=0




§(12x+6y) =2(4y-3) o &

w A% at b o] L2

=
54

1 1
O-% @3 1

B

Fol7l F4l0] o] 3 - Bk
24x + 12y = 24y - 18
24x =12y - 18

1 3

=971




e T AP A A x =4, x= -3 D T, ab O] LT

x+b

3 =b-2x

@ 2(@a-x)=x-2 © 1-

@ -5 @ -10 @—15 @ -20 © -25

@2(a-x)=x-20°l x=4F HstH
2(a-4)=4-20BRq=5

O1- oo x= 32 qdstm
1—_33+b:b+6015_e_b:—3

s.ab=5x(-3) =-15




